Efficiency vs Dxy(PV)

< 0.2

a2
0.18
x

o
=y
T[T [T T [T T T T[T T

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO
[Efficienc]| —— DQM_v0001_R000000001_ Global__mKkFit100tobtec_ RECO

o o
o o) .
B

efficiency vs dxy(PV.

o
IS

:.h. :
'”“ |
il

AL

95170.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

o
)
ol
L LN L L) AL LRy LAy L LR L

=30 -20 -10 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5]

efficiency vs dz(PV)

0.4]

0.3]




	Contents
	Page 1


